Money word problems

. Natalie does a job for her uncle, who pays her £2. She does another job for her
grandma, who pays her £6. How much money did she earn in fotal?

. David has £20. He gives £2 to one of his friends. How much does David have now
(in pounds)?

. Four friends put £5 each towards a present. How much can they spend on the
present?

. Mum has £12 and shares it equally between 2 of her children. How much will they
each get?

To access the 3 complete worksheets (including answers) at 3 levels of difficulty:
e one-step word problems with all four operations
e as above, but also two-step problems with addition and subtraction

e all two-step word problems with all four operations

visit

http://www.saveteacherssundays.com/maths/year-3/108/money-word-

problems/
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